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(a) "Wage income increases have a stronger impact

on fertility reductions than rental income

increases." Comment. Extend this argument to

societies where only women look after children.
(8)

(b) Where the family related externalities are typically

negative, private fertility choices generally lead to

overly large number of children. Explain. (7\

(w) "Fml fr flc q.d+ F 6r+ f rqt slq t Etr 6r,
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Write short notes on any two of the following:
(7 sx2)

(a) Social norms that create a high degree of

conformism, attribute to high levels of fertility.

Di sc us s.

(b) If the agricultural Wage W. is $300, urban formal

wage W,. is $ t000 and urban informal wage W,

is $500, will a potential migrant move to the

urban sector if the probability of getting absorbed

in the urban formal sector is 0.5 and the probability

of ending up in the urban informal sector is

0.7'!

(c) Differentiate between moderate globalisation and

hyper globalisation.

(d) Measurement of sustainability of development

ffrqfrtua + t fr-d i c( stu.a tqff frRrqq:

(ir) vrnfu+ ffrcs d] sEI trt d rlrwr q-{ c,,{e *,

3Er Rr( fr stdr d cfum ?t ir qqi frtt

7., r409

8

)

P.T.O.

)

t

)



r409

c6 ffifl i{r ce i + Affst' rqw * r< w< * frc
ftr*qr< lr fu, wqd nq i, sqt fav rgrur d t,'q qti
sk iln ftfr t cqffiq HR6) m( 6{++ frc 6-t

?n-Eq rorqr Rl qrqtq6' *i rs rt{c + ftq sid (t6,R :

ot-t aofum ffM sqqr ffiA $? 't

ln the light of fault lines as discussed by Raghuram

Rajan, evaluate the financial crisis that occurred in

the US ln 2007. What lessons do the developing

countries need to learn from the US experience?
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In a dual economy framework, highlight the

asymmetries that exist between the traditional

agriculture sector and the modern industrial sector.

Explain, in detail, the model of economic development

where development proceeds ria a joint transfer of

labour and agricultural surplus from the agricultural

to the industrial sector. (6,9)
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6. It is not the developing countries that are responsible

for the high levels of global pollution. Why then, in

your opinion, is it necessary for them to take stroDg

steps to mitigate the pollution and to control any further

environmental damage? ( 15) ) )
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3 Changes in distribution of wealth holdings among

individuals in a rural economy have the power to

increase the overall output in the economy. Discuss

in detail. ( l5)
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Explain why, in informal rural credit markets, the

moneylender's preferred contract involves credit

rationing even in the situation of existence of excess

demand for loans. ( 15)
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(a) Explain, through use of numerical example, why,

in the presence of limited liability of the borrower.

needs of rural credit cannot be adequately

served with the use of formal money lending

institutions? (6)

(b) "If vertical links are established between the

formal and the informal lenders in rural markets,

by way of expansion of formal credit to informal

lenders, it will invariably lower the interest rates

for small borrowers." Discuss. (9)
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